TKUOO1

Compact flange ball valve in steel or stainless
steel to regulate medium flow.

DTS 1000112284 EN Version: B Status: RL (released | freigegeben | validé) printed: 24.03.2015

= Manually operated

= Full opening

burkert

FLUID CONTROL SYSTEMS

2/2-way compact flange ball valve

Technical data

Orifice

Manually operated steel DIN/ISO 5211 DN 15-150
Manually operated stainless steel DIN/ISO 5211 DN
15-150

Body material

Steel 1.0619
Stainless steel 1.4408

Ball material

Stainless steel 1.4401

Seal material

PTFE

Pressure range

Technical vacuum (1072 Torr) ... 40 bar”
PN 40: Orifice 15 ... 50 mm

PN 16: Orifice 65 ... 150 mm

(other pressure ranges on request)

Temperature range
Version steel DIN/ISO 5211
Verson stainless steel DIN/ISO 5211

-10°C ... +160°C
-10°C ... +160°C
(see also pressure temperature restart points)

" Pressure values [bar]: Measured as overpressure to the atmospheric pressure

www.burkert.com p. 1/5



TKUoo1 burkert

Steel version, DIN / ISO 521 flange fitting

Torque Pressure temperature restart points Kvs value
Orifice Torque Dr Orifice Kvs value
uck
[mm] i [mm] water [m3/h]
15 8 100 bar | 15 35
20 11 20 46
25 15 { X, 25 72
63 bar - X,
32 22 I - 32 105
40 26 40 bar : 40 170
50 42 | 50 275
b
65 56 16 bar ] : 65 507
Obar!"Z"ii"Z"Z"i:'"""""'.:':‘ -
80 84 2 o0 40 100 200 230 80 905
100 105 Temperatur °C 100 1414
125 139 125 2362
150 184 150 3674

" Pressure values [bar]: Measured as overpressure to the atmospheric pressure

Kvs value [m3/h]
Nominal flow-rate value for water acc. to VDI/VDE 2173.
Measured at a medium temperature from +15°C, 1 bar" pressure at inlet and free outlet

Stainless steel version, DIN / ISO 5211 flange fitting

Torque Pressure temperature restart points Kvs value

Orifice Torque Orifice Kvs value

[mm] Druck [mm] water [m3/h]

15 8 100 bar 15 35

20 11 | 20 46

25 15 ; N\, 25 72
63 bar - X,

32 22 | 1 _ 32 105

40 26 40 bar : : ' 40 170

50 42 i 50 275

65 56 16 bar : 2% 65 507
Obar|"Z"ii":":"if"""""'.:':‘—

80 84 —éO 0 40 100 200 230 80 905

100 105 Temperatur °C 100 1414

125 139 125 2362

150 184 150 3674

" Pressure values [bar]: Measured as overpressure to the atmospheric pressure

Kvs value [m3/h]
Nominal flow-rate value for water acc. to VDI/VDE 2173.
Measured at a Medium temperature from +15°C, 1 bar" pressure at inlet and free outlet

DTS 1000112284 EN Version: B Status: RL (released | freigegeben | validé) printed: 24.03.2015

p. 2/5



TKuUoo1 burkert

Material

Steel version, DIN /7 ISO 5211 flange fitting

15 E ‘ 1 Body 1 1.0619
14 j 16 2 Screw-in fitting 1 1.0619
13 3 Stopper 1 1.4301
12 ; 4 Ball seal 2 PTFE
1 ! 17 5 Ball 1 1.4301
10 — 6 Pressure ring 1 PTFE
9 18 7 Body seal 1 PTFE
8 8 Ball stem seal 1 unit PTFE
H 9 Packing gland ring 2 1.4301
7 - ‘I_ - 10 Spring cup 2 SUS 301
6 11 Packing gland 1 1.4301
5. 12 Safety ring 1 1.4301
4 13 Handle 1 1.4301
27 - %_ 14 Locknut 1 1.4301
1 v 16 Gearshift lever shaft 1 1.4301
w 19 16 Handle cover 1 Plastic
I — — 17 Anti-static (optional) 1 1.4301
@ 3 | 20 18 O-Ring 1 FKM
5 | | 19 Spigot 1 1.4301
. . 7/ .
B }QL > 3y 20  Driver 1 1.4301
€
Q Integrated DIN/ISO 5211-Flange configuration
g BB
E |
= .
c
(9]
g | |
[3]
(@]
()
o
Q
§ Stainless steel version, DIN /7 ISO 5211 flange fitting
o
o
T 15 S ‘ 1 Body 1 1.4408
@ 14 16 2 Screw-in fitting 1 1.4408
© 13 3 Stopper 1 1.4301
@ 12 ; 4 Ball seal 2 PTFE
2 | | 17 5  Bal 1 1.4401
k=] n = 6 Pressure ring 1 PTFE
Z 10 18
g 9 7 Body seal 1 PTFE
> 8 Ball stem seal 1 unit PTFE
L 8 9 Packing gland ring 2 1.4301
3 7 A 10 Spring cup 2 SUS 301
& 6 [ 11 Packing gland 1 1.4301
s 5 NN 12 Safety ring 1 1.4301
S 4 LN 13 Handle 1 1.4301
. 27 - %- 14 Locknut 1 1.4301
5 1 _é 15 Gearshift lever shaft 1 1.4401
19 16 Handle cover 1 Plastic
] ] 17 Anti-static (optional) 1 1.4301
3 | 20 18 O-Ring 1 FKM
| | 19 Spigot 1 14301
}@i : ’ 20 Driver 1 1.4301
Integrated DIN/ISO 521 1-Flange configuration
BB
|
T

p. 3/5



TKUOO1 .

burkert

Steel version, DIN / ISO 5211 flange fitting

Measurements Mounting face to DN100 Mounting face from DN125

w0
S
q
[90)
Q
<
(a\]
5
(0]
E
s
@
o]
=
>
= L | L |
3 ©d2 - @d4
[0]
(@]
(0]
=3
[0
= Dimensions [mm] Ordering chart
®
&
o Orifice | C @G |@H OA |B E
= [mm] [ [mm] [mm] |[mm] [mm] | [mm] |[mm] a g'
T 15 40 65 95 15 345 |60.0 2F £
a 20 44 75 105 |20 385 |64.3 S E 2
5 25 53 85 115 |25 446 |646 = o
n 32 584 |100 |135 |32 51 69.0
@ 40 62 110 |145 |38 |55 76.3 20 7881861
§ 50 78 125 |155 |50 63 85.7 25 788 862
2 65 100 |145 |185 |65 735 | 105 32 788 863
> 80 120 |160 |200 |76 94 123 40 788 864
z 100 |152 |180 220 |96 105 | 132 50 788 865
3 125 |180 |188 |250 |114 |125 1575 65 788 866
g 150 |215 |212 |285 [135 |1425 |1725 50 788 867
3 100 788 868
Ol g
mm mm mm mm mm mm mm mm
150 788 870
E 15 FO3/F04 |36 42 60 |55 |9 8 M12x1.75
20 FO3/F04 |36 42 60 |55 |9 11 M12x1.75
25 FO4/F05 |42 50 5.5 7.0 11 11 M12x1.75
32 FO4/F05 |42 50 5.5 7.0 11 11 M16x2
40 FO5/FO7 |50 70 70 |85 14 17 M16x2
50 FO5/F07 |50 70 70 |85 14 15 M16x2
65 FO7 = 70 - 9.0 17 17 M16x2
80 FO7 - 70 - 9.0 17 17 M16x2
100 FO7/F10 |70 102 |9.0 105 |17 29 M16x2
125 Flo/F12 (102|125 [105 [125 |27 36 M16x2 (8 hole)
150 F10/F12 102 125 |105 [125 |27 36 M20x2.5 (8 hole)

p. 4/5



TKUOO1 .

burkert

Stainless steel version, DIN /7 ISO 5211 flange fitting

Measurements Mounting face to DN100 Mounting face from DN125
‘ <Ol
T “* [NJESIES]
C+1,6
Qd1 - @d3

©
o
[aV] I4 B
o ¥ ¢ R f N4
e <P z a
3 8
3 BB
> i
< |
a
B @d2 - Bd4
©
>
c . . .
g Dimensions [mm] Ordering chart
2
2 Orifice | C 9 G OH A B E
2 [mm] ([mm] [mm] |[mm] |[mm] |[mm] |[mm] o S
— 15 40 65 95 15 345 |60.0 ez E
% 20 44 75 105 20 38.5 64.3 6'- £ 9
% 25 53 85 115 25 44.6 64.6 - -
i 32 58.4 100 135 32 51 69.0 15 784 971
o 40 62 110 145 38 55 76.3 20 787 066
2 50 78 125 155 50 63 85.7 25 784 775
o] 65 100 145 185 65 7385 105
2 80 120 |160 |200 |76 |94  |123 e o Ele
= 100 152 180 220 96 105 132 40 784 777
.g 125 180 188 250 114 125 157.5 50 784 778
g 150 215 212 285 135 1425 11725 65 784 779
z Orifice | 1SO odl |@d2 ©d3 ©d4 K L M 80 784 780
3 [mm] 5211 [mm] [mm] |[mm] [ [mm] [mm] |[mm] | [mm] 100 784 781
x 15 FO3/F04 | 36 42 6.0 55 9 8 M12x1.75 195 784 968
s 20 FO3/F04 |36 42 6.0 5.5 9 11 M12x1.75
S 25 FO4/FO5 |42 |50 |55 |7.0 |11 11 M1 2x1.75 150 784 969
= 32 FO4/FO5 |42 50 5.5 7.0 11 11 M16x2
fQ 40 FO5/F07 | 50 70 7.0 8.5 14 17 M16x2
o 50 FO5/F07 |50 70 7.0 8.5 14 15 M16x2

65 FO7 = 70 = 9.0 17 17 M16x2

80 FO7 - 70 - 9.0 17 17 M16x2

100 FO7/F10 |70 102 9.0 10.5 17 29 M16x2

125 F10/F12 | 102 125 10.5 12.5 27 36 M16x2 (8 hole)

150 F10/F12 | 102 125 10.5 12.5 27 36 M20x2.5 (8 hole)

To find your nearest Biirkert facility, click on the orange box —> _
In case of special application conditions, Subject to alteration.
please consult for advice © Christian Biirkert GmbH & Co. KG 0810/1_EU-en_00895108

p. 5/5



